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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MATH

THIS IS A COMPUTATION QUESTION. What is the area of a trapezoid of height 12 feet and base lengths 6 feet and 12 feet, given that the area is equal to height times the average of the bases?

ANSWER: 108 square feet
TOSSUP 2
SCIENCE

A popular concept in recent months has been reducing one’s ‘footprint’ of this element, in terms of amounts of the element contributed to the atmosphere by human activities.  Often, this ‘offset’ will be a donation towards reforestation or alternative fuel projects in other countries. What is this element, most often found in diamonds and in a greenhouse gas with two atoms of oxygen?

ANSWER: carbon
TOSSUP 3
SOCIAL STUDIES

The battle of Aegospostami (ay-gohs-poh-stah-mee) largely ended this war, although Samos held out another year. The winners installed a regime known as the ‘Thirty Tyrants’ and suspended democracy. The early part of this war, before the Peace of Nicias (neye-see-us), is well-documented by Thucydides (thoo-sih-dih-deez). What war, fought between 431 and 404 B.C., pitted Athens against Sparta? 

ANSWER: Peloponnesian War

TOSSUP 4
FINE ARTS

It replaced enucaustic paints made from hot wax and was itself replaced by oil-based paints in the Renaissance. Orthodox icons must be made using it. It is made by mixing pigment in eggs and was widely used in the Middle Ages. What type of paint must never be confused with a Japanese method of deep-frying? 

ANSWER: tempera
TOSSUP 5
SOCIAL STUDIES

This type of contract dates back to the ‘burial clubs’ of ancient Rome. The modern variety dates to 17th century England, when traders at Lloyd’s of London decided to protect against loss of themselves. Today, it comes in endowment, universal, whole, and term varieties. What contract is an agreement for one party to receive periodic payment, and then to pay a certain amount after the other party’s death? 

ANSWER: life insurance
TOSSUP 6
LITERATURE

This novel’s protagonist has her heart broken by Lee Rynor, but then meets Ben Blake. Other characters in this novel include the protagonist’s baby sister Annie Laurie, stepfather Mr. McShane, and brother Neeley. Francie Nolan matures in what Betty Smith novel in which a woody plant becomes bigger in a New York City borough? 

ANSWER: A Tree Grows in Brooklyn
TOSSUP 7
LITERATURE

He disguises himself as a deaf/mute Spaniard. He starves to death in McDougal’s Cave, and thus is not able to carry out his revenge against the Widow Douglas. After killing Dr. Robinson, he frames Muff Potter, and escapes from court when the deception is found. What half-White, half-Indian is the villain of The Adventures of Tom Sawyer? 

ANSWER: Injun Joe
TOSSUP 8
SCIENCE

All treatments used in this field are made by succussion, a special form of shaking. Treatments include nosodes, which include a disease byproduct such as mucus. Most treatments are, however, diluted to the point where there is no active ingredient. Christian Hahnemann created what branch of alternative medicine that seeks to treat “like with like” – as opposed to isopathy, that seeks to treat “same with same”?

ANSWER: homeopathy (accept homeopathic medicine)
TOSSUP 9
LITERATURE

At sunrise, this god started as an infant, becoming an old man by sunset. Every evening was spent in the sun-boat with Ma’at, Mehen, and a non-evil Set protecting the sun from the underworld’s waters. With a busy schedule like that, he was happy to let Osiris and Horus rule over of humanity. What Egyptian sun god merged his divinity with either Amon or Atum? 

ANSWER: Ra (rah) or Re (ray) (ALSO accept Amon or Atum either before or after “Ra” or “Re”)

TOSSUP 10
MATH

THIS IS A COMPUTATION QUESTION. What is the value of the logarithm of 1/81 base 3?

ANSWER: -4
TOSSUP 11
LANGUAGE ARTS

Nouns in this language usually add the suffix –ha to form the plural, but foreign loanwords bring a lot of irregularity. Classical poetry is in a variety of this language called Dari. Until 1843, the Mughal rulers of India conducted business in this language. It has used the maikhi and Pahlavi writing systems, but currently uses a 32-letter alphabet that is a modified form of the Arabic alphabet. What language is spoken in Tehran?

ANSWER: Persian or Farsi (also accept Parsi) or Iranian
TOSSUP 12
MISCELLANEOUS

Also known as tinea, it is the cause of jock itch and athlete’s foot.  Treatments include lufenuron (loo-FEN-you-rawn) and Lotrimin.  Its symptoms include red raised itchy patches and it may cause hair loss.  Name this fungal infection that, despite its name, is not caused by a worm.

ANSWER: ringworm (accept dermatophytosis)
TOSSUP 13
MATH

THIS IS A COMPUTATION QUESTION. In lowest terms, what is 3/5 plus 7/8 minus 2/3, which is equal to 72/120 plus 105/120 minus 80/120?

ANSWER: 97/120
TOSSUP 14
SCIENCE

It is rootless and thus can grow in sand, sterile soil, or bare rock.  A recent experiment showed that it can even survive in outer space.  It is eaten on by reindeer and butterfly larvae.  Name this symbiotic association of a fungus with a photosynthetic partner that is usually green algae or cyanobacteria.

ANSWER: lichen
TOSSUP 15
SOCIAL STUDIES

She was beatified after Monica Besra was cured of a stomach tumor. She won the 1979 Nobel Peace Prize for ‘work undertaken in the struggle to overcome poverty and distress.’ Sister Nirmala is now the head of the Missionaries of Charity, the order of nuns she founded. Agnes Bojaxhiu (baw-yah-zhoo) was the birth name of what Albanian nun who became more famous for serving the poor of Calcutta? 

ANSWER: Mother Teresa of Calcutta (accept Blessed Teresa)

Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LITERATURE

In May 2007, this author wrote Animal. Vegetable. Mineral., where she sought to eat only locally-grown food. Two of her books are about Kentucky native Taylor Greer, who lives near the Oklahoma reservation and adopts a Cherokee baby: The Bean Trees and Pigs in Heaven. What author follows the Price family’s move from Georgia to the Belgian Congo in The Poisonwood Bible? 

ANSWER: Barbara Kingsolver
BONUS 16
SCIENCE

Name these Nazi scientists.

A.
He directed the Kaiser Wilhelm Institute, but is best known for his Uncertainty Principle. 


ANSWER: Werner Karl Heisenberg
B.
After the war, he directed the Marshall Space Flight Center and oversaw construction of the Saturn V rocket.


ANSWER: Wernher von Braun
C.
This physician at Auschwitz was nicknamed the ‘Angel of Death,’ and escaped post-war capture, dying in 1979. 


ANSWER: Josef Mengele
D.
Lise Meitner discovered nuclear fission, but who won the Nobel Prize for its discovery? 


ANSWER: Otto Hahn
TOSSUP 17
SOCIAL STUDIES

It was opened in 1894 due to development in the East End. In 1952, a double decker bus jumped the gap that was forming when its bascules were being raised. It is on the Inner Ring Road, the boundary of the congestion charge zone in London. It is often mistaken for London Bridge. What is this bridge named for a nearby landmark?

ANSWER: Tower Bridge 

BONUS 17
MATH

THIS IS A COMPUTATION QUESTION. How much money are the following?

A.
5 quarters, 8 dimes, 3 nickels, and 10 pennies?
Answer:  $2.30
B.
11 quarters, 5 dimes, 9 nickels, and 11 pennies?
Answer:  $3.81
C.
3 quarters, 9 dimes, 4 nickels, and 23 pennies?
Answer:  $2.08
D.
9 quarters, 4 dimes, 11 nickels, and 5 pennies?
Answer:  $3.25
TOSSUP 18
SOCIAL STUDIES

This city is near the F.E. Warren Air Force Base. It saw the debut of the Navy’s Thunderbirds at the 1953 Frontier Days festival. Grenville Dodge named it for a local Native American nation as he was surveying the Union Pacific Railroad, and it became the main loading point for cattle on that railroad. The largest city in Laramie County, Wyoming, is what city, also that state’s capital? 

ANSWER: Cheyenne, Wyoming

BONUS 18
LANGUAGE ARTS

Identify these unusual words.
What word contains three double letters in a row, and describes someone that keeps records for a business or organization?


ANSWER: bookkeeper
What long word described people who opposed the idea of removing the Church of England’s official status?


ANSWER: antidisestablishmentarianism 
The Oxford English Dictionary has 76 meanings for what word that include ‘a tear in a stocking’ and ‘to make copies?’

ANSWER: run
What four-letter word can mean either to move quickly or, ironically, to not be moving, as when it follows the word ‘stuck?’


ANSWER: fast
TOSSUP 19
SCIENCE

It is not used for aperiodic events, such as radioactive decay.  One of this unit times two pi is equal to one radian per second.  It is equal to one cycle per second.  Name this SI unit of frequency named after a German radio pioneer that shares its name with a rental car agency.

ANSWER: hertz
BONUS 19
LITERATURE

Given the characters from an F. Scott Fitzgerald novel, name the novel.

A.
Amory Blaine.

ANSWER: This Side of Paradise

B.
Dick and Nicole Driver

ANSWER: Tender Is The Night

C.
Anthony Patch

ANSWER: The Beautiful and Damned

D.
Jordan Baker and Nick Carraway

ANSWER: The Great Gatsby

TOSSUP 20
MATH

The Chinese theorem about them deals with congruences in number theory.  It can also refer to the residue of a congruence.  It is also found by the modulo operation.  Name this term for the amount left over from division, which in the example sixteen divided by five is equal to one.

ANSWER: remainder
BONUS 20
SOCIAL STUDIES

Answer these questions about the Federal Reserve

A.
How many Federal Reserve Districts are there?


ANSWER: 12
B.
James Reed ensured that what state got to have two Districts?


ANSWER: Missouri (Kansas City and St. Louis)

C.
Who is the current Chairman of the Federal Reserve’s Board of Governors?

ANSWER: Ben Bernanke
D.
What name is given to the part of a bank’s deposits that must be kept at the Fed to ensure that bank’s solvency?


ANSWER: (fractional) reserve
TOSSUP 21
MATH

They are used to prove the logic of computer program loops. They also help with other logic in a computer program: if they are proved true, your program’s logic is true. Name this term that comes from Latin meaning ‘not to vary.’

ANSWER: Loop Invariant(s)

BONUS 21
SCIENCE

Answer these questions about blood:

A. 
What name is given to the fluid component of blood?

ANSWER: plasma
B. 
Which blood cells, which, when mature, are incapable of division, are responsible for transporting oxygen?

ANSWER: erythrocytes [uh-RITH-ruh-sytes] or red blood cells

C. 
What general condition results from decreased red blood cell mass, regardless of cause?

ANSWER: anemia(s) [accept word forms]

D. 
Which small cell fragments are also known as thrombocytes [THROM-boh-sytes]?

ANSWER: platelets

TOSSUP 22
SCIENCE

Because of the material being used to test it, this property of minerals can only be tested using minerals that have a hardness of approximately 7 or less.  Flourite's is always white, hematite's is red, and gold's is yellow.  Most of the minerals with hardness of more than 7 have a white one.  What physical property of minerals describes the color of the powder left behind when the mineral is rubbed across a porcelain plate?

ANSWER: streak
BONUS 22
MATH

THIS IS A COMPUTATION QUESTION. What are the surface areas of the following?

A.
A cube of volume 6859 cubic feet.
ANSWER: 2166 square feet
B.
A sphere of radius 4 feet.

ANSWER: 64 pi square feet
C.
A box of height 4 feet, width 6 feet, and length 9 feet.  Answer: 228 square feet
D.
A cube of side length 11 feet.

ANSWER: 726 square feet
TOSSUP 23
MISCELLANEOUS

This leader transferred power to his brother Raul in 2006, prior to surgery. Despite rumors of his death that sparked celebrations in Miami, official reports state that he is alive and well. 2009 will mark the 50th anniversary of his overthrow of Fulgencio Batista.  Who is this man, the current President of Cuba?

ANSWER: Fidel Castro
BONUS 23
MISCELLANEOUS

Answer the following about 2007 toy recalls

A.
In November this toy was recalled because of a toxic plastic used.


ANSWER: Aqua Dots or Bindeez

B. 
When ingested the plastic used on Aqua Dots turns in this drug?


ANSWER: gamma-Hydroxybutyric acid or GHB

C. 
This biggest US toy maker hit by the China recalls of summer 2007 was this maker of Barbie.


ANSWER: Mattel

D. 
Also recalled in 2007 was this Hasbro toy based on kids being able to put their hand in the front opening and possible burning themselves with either the light bulb or heating element.


ANSWER: Easy Bake Oven 

TOSSUP 24
FINE ARTS

This musical instrument descends from a Baroque instrument called the chalumeau (shah-loo-moh). Its contrabass type is the lowest type commonly seen, and the most common type is the soprano, B-flat variety. Johann Denner invented the first one, giving it a name that means “little trumpet” in Italian. What woodwind instrument is associated with Acker Bilk, Benny Goodman, and Squidward Tentacles? 

ANSWER: clarinet(s)

BONUS 24
LITERATURE

Identify these 20th century philosophers. 

A.
This Frenchman wrote the play No Exit, in which he says, ‘Hell is other people.’


ANSWER: Jean-Paul Sartre
B.
A linguistics professor at MIT, he wrote Manufacturing Consent: The Political Economy of the Mass Media. 

ANSWER: Noam Chomsky
C.
This Spanish philosopher was part of the Spanish Republican government; he wrote The Revolt of the Masses.

ANSWER: José Ortega y Gasset
D.
One of Paul Wolfowitz’s professors at the University of Chicago was what political philosopher, a ‘founding father’ of neo-conservatism? 


ANSWER: Leo Strauss
TOSSUP 25
LITERATURE

This book contains a recipe for French fudge in the last chapter. The baker who makes the fudge helps Caractacus Potts, and his family, capture some bandits. The Potts succeed with the help of a three-time Grand Prix winner which acquires the ability to fly. This happens in what children’s novel by Ian Fleming? 

ANSWER: Chitty Chitty Bang Bang
BONUS 25
SOCIAL STUDIES

Identify these ancient empires.

A.
Justinian was a prominent ruler of what empire?


ANSWER: Byzantine
B.
Ruling from the city of Nineveh, Tiglath-Pileser III made what regional power a great empire?


ANSWER: Assyria
C.
What empire, started by Arsaces I, lasted from 247 BC until 220 AD and was Rome’s rival to the immediate east? 


ANSWER: Parthian
D.
Ashoka the Great led what empire that controlled nearly all of India, Pakistan, and Afghanistan?


ANSWER: Mauryan
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
FINE ARTS

This art movement’s Czech branch focused on architecture, and it had ‘analytic’ and ‘synthetic’ periods. It lasted between roughly 1908 and 1919, when it was replaced by Surrealism. Georges (zhorzh) Braque and Pablo Picasso were part of what art movement that sought to reduce objects to geometric shapes? 

ANSWER: cubism or cubist
TOSSUP 27
LITERATURE

She lived with the married George Lewes as husband and wife, causing a scandal in 19th century London. Her essay ‘Silly Novels by Lady Novelists’ led her to adopt a masculine nom de plume. Mary Ann Evans was the real name of what author of The Mill on the Floss, Adam Bede, Silas Marner, and Middlemarch? 

ANSWER: George Eliot (accept Mary Ann Evans before it is said in the question)
TOSSUP 28
SCIENCE

The first one of these was discovered in 1967 by radio telescope and was initially called ‘LGM-1,’ for ‘Little Green Men,’ due to the regularity of its radio emissions. One with a 33-millisecond pulse was later discovered in the middle of the Crab Nebula. What objects are rotating neutron stars that emit regular radio waves? 

ANSWER: pulsar(s) or pulsating stars
TOSSUP 29
LANGUAGE ARTS

The Danish linguist Otto Jespersen [yes-per-son] coined this term. Potential causes include European immigration to South-east England and the influences of spoken French. Words such as feet, mice, and make were pronounced differently after what major 15th century change in spoken English that affected non-consonants?

ANSWER: Great Vowel Shift
TOSSUP 30
SCIENCE

Some 5,000 names of these are shared between kingdoms – for example, Aotus is the golden peas and the night monkeys. Humans are in Homo. What taxonomic category comes between family and species?

ANSWER: genus
TOSSUP 31
SOCIAL STUDIES

Long periods of this economic condition have occurred twice in the USA’s history: once between 1873 and 1896 at about 1 percent a year, and again between 1930 and 1933 at 10 percent a year. The ‘spiral’ associated with it leads to reduced profits, which in turn leads to lower production, and then to lower wages. The purchasing power of money increases during what general decrease in the level of prices? 

ANSWER: deflation
TOSSUP 32
SOCIAL STUDIES

Bomber groups who requested their escort called them ‘Redtails.’ However, contrary to some belief, they did lose some of the bombers they escorted. Benjamin O. Davis commanded them. Officially, they were the 332nd Fighter Group of the US Army Air Corps. What World War II air unit was composed entirely of African-Americans? 

ANSWER: Tuskegee Airmen

TOSSUP 33
MATH

THIS IS A COMPUTATION QUESTION. If A = 2, B = 4, etc., through Z = 52, what is the numerical value of E times Y times G?

ANSWER: 7000
TOSSUP 34
MISCELLANEOUS

As a pilot, this head of Lakota Trading became the first pilot to circumnavigate the world solo and without stopping for fuel.  Financed by friend Richard Branson, he was scouting for empty lakebeds in Nevada for an attempt to break the land speed record when he disappeared.  Who was the first man to fly a hot air balloon around the world?

ANSWER: Steve Fossett
TOSSUP 35
MATH

THIS IS A COMPUTATION QUESTION. What number follows in the pattern 46656, 3125, 256, 27, and 4?

ANSWER: one (the numbers are 6 to the 6th, 5 to the 5th, 4 to the 4th, etc.)
TOSSUP 36
SCIENCE

One definition of this term is simply, ‘a widespread non-indigenous species.’ However, this doesn’t distinguish between harmful and harmless species. What name is given to plants and animals such as kudzu and the zebra mussel that are imported from other regions of the world and cause harm to the local economy or ecosystem?

ANSWER: invasive species
TOSSUP 37
MATH

THIS IS A COMPUTATION QUESTION. In what quadrant is the point (-5, -8)?

ANSWER: three or third
TOSSUP 38
LITERATURE

He pushed his nephew Perdix off the top of a tower and was exiled from Athens. He nearly died after solving the riddle of running a string through a spiral shell, but was saved by the King of Sicily. Images and sails were just some of his lesser-known inventions. Who is best-known for building a wooden cow, artificial wings for himself and his son, and the Labyrinth? 

ANSWER: Daedalus
TOSSUP 39
LITERATURE

In this work, the True Church, personified by Una, is opposed by the Roman Catholic Church, personified by Duessa. Both talk to the Redcrosse Knight, the personification of England, and with the title character, Gloriana, the personification of Elizabeth I. What is this epic poem by Edmund Spencer?

ANSWER: The Faerie Queene
TOSSUP 40
SOCIAL STUDIES

He negotiated the Permanent Settlement of Bengal during his two terms as Governor-General of India. Before his most famous defeat, he lost the Battle of King’s Mountain and the Battle of Cowpens. The Battle of the Chesapeake cut off his escape by sea. On October 17, 1781, what British general then surrendered his army at Yorktown?

ANSWER: (Lord or Marquis) Charles Cornwallis
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
SCIENCE

He criticized string theory, claiming that proponents ‘are not calculating anything.’ In 1986, he demonstrated, on national TV, how low temperatures lessen the resilience of O-ring sealant, such as that used in the Challenger.  What Caltech physics professor also played the bongo drums, offered advice on how to pick up girls, and delivered several Lectures on Physics? 

ANSWER: Richard Feynman (FINE-man)

BONUS 41
MATH

THIS IS A COMPUTATION QUESTION. What is the value of i to the following powers?

A.
45th

Answer:
i
B.
356th

Answer:
1
C.
379th

Answer:
-i
D.
658th

Answer:
-1
TOSSUP 42
MATH

THIS IS A COMPUTATION QUESTION. How many distinct ways can the letters in the word adding be arranged?

ANSWER: 360
BONUS 42
SCIENCE

What term describes plants or trees that . . .

A. 
Do not enclose their seeds in ovaries?

ANSWER: gymnosperm(s)

B. 
Shed their leaves?

ANSWER: deciduous [duh-SID-yoo-uss]

C. 
Complete their life cycles in two years?

ANSWER: biennial(s)

D. 
Have two embryonic seed leaves?

ANSWER: dicot(s) or dicotyledon(s)

TOSSUP 43
SOCIAL STUDIES

After becoming king, he wrote the Anti-Machivel, a rebuttal of The Prince. When visiting his tomb in Potsdam, Napoleon said to his generals, ‘Gentlemen, if this man were still alive I would not be here.’ He engineered the first partition of Poland along in 1772. He captured the province of Silesia from Austria in the War of the Austrian Succession. The Seven Years’ War was also fought by what King of Prussia? 

ANSWER: Frederick the Great or Frederick II
BONUS 43
SOCIAL STUDIES

Answer these questions about the document that governed the United States between 1777 and 1788.

A.
What was this document that was superceded by the Constitution?


ANSWER: Articles of Confederation
B.
One of its weaknesses was that how many states had to approve any proposed changes to the Articles? 


ANSWER: all or thirteen
C.
What law, passed in 1787, provided a means to organize the lands north of the Ohio River and divide it into states?


ANSWER: Northwest Ordinance
D.
The Articles did not take full effect until 1781, when what state ratified it? 


ANSWER: Maryland
TOSSUP 44
LANGUAGE ARTS

In music, it is an ordering of tones that employs all 12 pitches of the chromatic scale. Another meaning is primarily British and is virtually synonymous with ‘argument.’ It can also refer to a succession without a break, as in titles won in consecutive years, or to a line of adjacent seats in a theater or sports stadium. What word also refers to propelling a ship with oars? 

ANSWER: row(s) (the British word rhymes with ‘cow,’ so accept either pronunciation) 

BONUS 44
FINE ARTS

Identify these composers of nocturnes for five points each.

A.
His nocturnes were for piano, as were preludes like the "Raindrop" and Etudes like the "Revolutionary"

ANSWER: Frederic Chopin
B.
His cryptically-miniature piano works included a cycle of nocturnes, as well as three Gymnopedies

ANSWER: Erik Satie
C.
His "Nocturnes" is a three-movement orchestral suite, just like "La Mer" [Lah MAIR] and "Images"

ANSWER: Claude Debussy
D.
The second of the dance episodes in his ballet Rodeo [Ro-DAY-Oh] is the "Corral Nocturne."

ANSWER: Aaron Copland
TOSSUP 45
SOCIAL STUDIES

He was William McKinley’s first Secretary of State and was Secretary of the Treasury under Rutherford B. Hayes. This Ohio Republican increased the amount of silver the U.S. government bought with his ‘Silver Purchase Act.’ In 1890, who also sought to regulate monopolies with his ‘Antitrust Act?’

ANSWER: John Sherman
BONUS 45
SCIENCE

In its most colloquial definition, it refers to a substance that gives a pH higher than neutral.

A. 
What is this chemistry term?

ANSWER: base [accept word forms]

B. 
This acid-base theory defines a base as a substance that donates hydroxide ions when dissolved in water.

ANSWER: Arrhenius [uh-RAY-nee-us] theory

C. 
This more useful acid-base theory defines a base as a substance that accepts protons.

ANSWER: Bronsted(-Lowry) theory

D. 
This even broader acid-base theory defines a base as a substance that donates electron pairs.

ANSWER: Lewis theory

TOSSUP 46
MISCELLANEOUS

This band changed to their current name from Kara’s Flowers after the addition of guitarist James Valentine.  Their first album was about the lead singer’s experiences with an ex-girlfriend, and was thus titled Songs About Jane.  What band, fronted by Adam Levine, recently released their second album, It Won't Be Soon Before Long, to follow up singles like ‘This Love’ and ‘Harder to Breathe’?

ANSWER: Maroon 5
BONUS 46
LITERATURE

Name these Nobel laureates in literature from Latin America from clues.

A.
This Chilean poet and 1971 winner was also a Communist politician.

ANSWER: Pablo Neruda
B.
2007 marked the 25th anniversary of his winning the Nobel Prize, and the 40th anniversary of the publication of One Hundred Years of Solitude.

ANSWER: Gabriel Garcia-Marquez
C.
The novel Men of Maize and the Banana Trilogy were published by this Guatemalan author and 1967 winner.

ANSWER: Miguel Angel Asturias
D.
This Mexican 1990 winner published his debut work, Caballera, in 1931, but he is best known for The Labyrinth of Solitude.

ANSWER: Octavio Paz

TOSSUP 47
SCIENCE

They can be tertiary, secondary, or primary ones known as Khelifis; can be aliphatic or aromatic; and can be chiral (kye-rul) or not chiral. They act as bases and structurally resemble ammonia.  Examples of their chemical formulas include C3H9N, C2H5N, C2H7N, and CH5N.  Name this type of functional group that has nitrogen as its key atom and form acids that make up proteins.

ANSWER: amine
BONUS 47
SOCIAL STUDIES

How well do you know your islands of Canada?

A. 
This is Canada’s third largest island and its northern most.


ANSWER: Ellesmere
B. 
This island off the coast of British Columbia is the 2nd most populated island of Canada behind Montreal Island.


ANSWER: Vancouver

C. 
This is Canada’s largest island.


ANSWER: Baffin 

D. 
This largest island of Quebec is lies between Quebec, New Brunswick, and Newfoundland.


ANSWER: Anticosti
TOSSUP 48
MATH

THIS IS A COMPUTATION QUESTION. What is the complex product of the conjugate of 7 - 5i and the conjugate of 3 - 2i?

ANSWER: 11 plus 29i
BONUS 48
LITERATURE

Answer the following questions about Kurt Vonnegut and his works.

A.
This fictional religion was introduced  in Vonnegut’s novel Cat’s Cradle.

ANSWER: Bokonism

B.
Bokonism was practiced on what fictional island in that novel?

ANSWER: San Lorenzo

C.
In the novel Slaughterhouse-Five, Billy Pilgrim is a prisoner of war in what city during World War II?

ANSWER: Dresden
D.
Name Vonnegut’s final novel, published in 1997.

ANSWER: Timequake

TOSSUP 49
LITERATURE

The title character became king of the Geats (gheets), and died while fighting a dragon. He had earned his fame by slaying a ‘kin of Cain,’ thus saving the Danish king, Hrothgar (huh-rawth-gar), and then had to slay that monster’s mother. In what epic does the title character slay the Grendel? 

ANSWER: Beowulf

BONUS 49
MISCELLANEOUS

How much do you know about Vanilla Ice’s hit Ice Ice Baby.

A. 
Ice Ice Baby appeared on this ablum


ANSWER: To the Extreme

B. 
Ice Ice Baby sampled this song from David Bowe and queen


ANSWER: Under Pressure

C. 
Vanilla Ice re-released Ice Ice Baby in 1998 under this title. Most of the song remained unchanged, other Ice turning it into a combination heavy metal and rap song.


ANSWER: Too Cold

D. 
Ice Ice Baby was set in this US city.


ANSWER: Miami
TOSSUP 50
LITERATURE

After accidentally shooting his girlfriend Joan Vollmer, he turned to writing, writing Junkie about his heroin addiction and then The Yage (yah-hay) Letters about his search for a new drug. His later works included The Wild Boys and The Red Night trilogy. Who wrote about the incompetent Dr. Benway in The Naked Lunch? 

ANSWER: William S. Burroughs II

BONUS 50
MATH

THIS IS A COMPUTATION QUESTION. What are the positive square roots of the following?

A.
289

Answer:
17
B.
1369

Answer:
37
C.
441

Answer:
21
D.
30.25

Answer:
5.5
END OF MATCH

Spare questions
TOSSUP 51
MATH

THIS IS A COMPUTATION QUESTION. Where is the vertex of the parabola x = -.5 (y plus 4) squared (read as: negative point five times the quantity y plus 4 squared) minus 7?

ANSWER: (-7, -4)
BONUS 51
LITERATURE

Name these long poems in world literature from clues.

A.
This Lord Byron work satirizes a common womanizer as someone who is easily seduced by women.

ANSWER: Don Juan

B.
“April is the cruelest month” opens this 1922 poem by T.S. Eliot.

ANSWER: The Waste Land

C.
The Greek mythological figure who falls in love with Selene lends his title to this 19th-century poem by John Keats.

ANSWER: Endymion

D.
Antonyms are often used in close proximity in this 1671 “sequel” by John Milton.

ANSWER: Paradise Regained

TOSSUP 52
LITERATURE

He is governor of the fictional island of Barataria (bah-rah-tah-ree-ah) for several weeks. His wife Teresa supports him, and he rides a donkey named Dapple. He endures beatings to ensure Altisidora’s resurrection and the transformation of Dulcinea. What peasant goes on adventures with Don Quixote (kee-hoh-tay)? 

ANSWER: Sancho Panza

BONUS 52
SOCIAL STUDIES

Answer these questions about the social turmoil of the 1960s.

A.
On May 4, 1970, four students were killed during an anti-Vietnam protest at what Ohio university?


ANSWER: Kent State University

B.
Who was nominated for President at the 1968 Democratic National Convention?


ANSWER: Hubert Humphrey
C.
What radical offshoot of the Students for a Democratic Society took its name from the Bob Dylan song ‘Subterranean Homesick Blues?’ 


ANSWER: Weatherman, the Weathermen, or the Weather Underground
D.
A week after the death of Judy Garland, what riot started when the New York City police attempted to shut down a gay bar and arrest several of its patrons?


ANSWER: Stonewall riot

TOSSUP 53
LANGUAGE ARTS

It is the SI unit for absorbed dose of radiation, equivalent to the sievert. An alternate spelling is the namesake of the Canadian Football League’s championship game, and of a tea infused with oil of bergamot. It is the last name of the author of ‘Elegy Written in a Country Churchyard.’ The last name of an Oscar Wilde title character is the same as what color made by adding mixing medium amounts of red, blue, and green? 

ANSWER: grey or gray
BONUS 53
SCIENCE

The Paleozoic [PAY-lee-uh-ZOH-ik] era is typically divided into six periods, one of which is further subdivided. Name any four of those six top-level periods.

ANSWER: Cambrian [KAIM-bree-un]


Ordovician [OR-duh-VIH-shun]


Silurian [sye-LOO-ree-un]


Devonian [duh-VOH-nee-un]


Carboniferous [kar-buh-NIF-uh-russ]


Permian [PER-mee-un]

TOSSUP 54
FINE ARTS

The hymn associated with this symphonic poem was reworked into a standalone piece, which became the melody of Biafra’s national anthem and the Christian hymn “Be Still, My Soul.” It was written in opposition to the Russification processes that were starting when it was written in 1899. Jean Sibelius is best-known for what symphonic poem about the struggle of his native land? 

ANSWER: Finlandia
BONUS 54
MISCELLANEOUS

Given regular characters on a TV show, name the TV show.

A.
Thelma Evans Anderson, Florida Evans, and J.J. Evans

ANSWER: Good Times
B.
Fred and Ethel Mertz.


ANSWER: I Love Lucy

C.
Lumpy Rutherford and Larry Mondello.


ANSWER: Leave It To Beaver
D.
Michael Stivic and Gloria Stivic.


ANSWER: All in the Family

TOSSUP 55
SOCIAL STUDIES

This union’s recent presidents include Tony Boyle, Sam Church and Richard Trumka. It was involved in the Harlan County War; its planned nationwide strike in November 1974 was averted before cold set in. In 1969, it ensured Congress helped sufferers of black lung disease. What union remains powerful in Virginia’s coal country? 

ANSWER: United Mine Workers or UMW
BONUS 55
MATH

Given a programming language, give me the character or characters used for inline comments.

A. 
Perl

ANSWER: # (pound sign) 

B. 
C++

ANSWER: // (back slash back slash)

C. 
Fortran

ANSWER: ! (exclamation point)

D. 
Cobol

ANSWER: * (asterisk) 

TOSSUP 56
MISCELLANEOUS

His 1931 death in a plane crash led to the death spiral of the Fokker aircraft manufacturer. He worked with teammate Gus Dorais in the summer of 1913 on passing techniques, leading to a massive 35-13 upset of Army that fall. One innovation he devised was the “shift,” where the backfield formed a box before the snap. What coach is now rolling in his grave due to the poor 2007 performance of Notre Dame?

ANSWER: Knute (kuh-noot) Rockne

BONUS 56
LANGUAGE ARTS

Consider the sentence, ‘The quick brown fox jumps over the lazy gray dog.’ 
A.
Counting articles, how many adjectives are in the sentence? 


ANSWER: six
B.
What part of speech is the prepositional phrase in that sentence?


ANSWER: adverb
C.
That sentence is an example of what sentence that uses every letter of the alphabet at least once, a term that comes from the Greek for ‘all letters?’


ANSWER: pangram
D.
Restate that sentence in the conditional tense – or conditional mood, if that’s what you’ve been taught.

ANSWER: The quick brown fox would jump over the lazy grey dog
TOSSUP 57
SCIENCE

They are shiny and silvery-white and are characterized by having their 4f subshells as their outermost subshells.  Examples of them include thulium, cerium, europium, and promethium.  This periodic table series is part of the ‘rare earth’ elements. It ranges from element 57, which is its namesake, to 71, which is lutetium. What element series is located above the actinides? 

ANSWER: lanthanide or lanthanoid (prompt on rare earth before mentioned)

BONUS 57
FINE ARTS

Given an artist, name the movement or method with which he was most closely associated.

A.
Jackson Pollock

ANSWER: Abstract Expressionism
B.
Georges Seurat

ANSWER: Pointillism or Neo-Impressionism
C.
Thomas Cole 


ANSWER: Hudson River School 

D.
Henri Matisse 


ANSWER: Fauvism
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